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QUESTION 1

Given:

StringBullder s = new StringBuilder ("ABCD"):;

Which would cause s to be AQCD?

A. s.replace(s.indexOf("A"), s.indexOf("C"), "Q");
B. s.replace(s.indexOf("B"), s.indexOf("C"), "Q");
C. s.replace(s.indexOf("B"), s.indexOf("B"), "Q");
D. s.replace(s.indexOf("A"), s.indexOf("B"), "Q");

Correct Answer: C

QUESTION 2

Given:

public class Person {

private String name;

public void setName (String name) {
String title = "Dr. ";
name = title+name;

}

public String toString() {
return name;

}
and

public class Test {
public static void main(String args[]) {
Person p = new Person():;
p.setName ("Who") ;
System.out.println(p):

What is the result?
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A. Dr. Who

B. Dr. Null

C. An exception is thrown at runtime.
D. null

Correct Answer: D

Console 1 » Console 2
null

Completed with exit code: 0

QUESTION 3

Given: Which two lines can replace line 1 so that the Y class compiles? (Choose two.)

public class X {
private Collection collection;

public void set (Collection collection) {
this.collection = collection;

and

public class Y extends X {
public void set (Map<String,String> map) {
super.set (map); // line 1

}

A. map.forEach((k, v) -> set(V)));
B. set(map.values());

C. super.set(List map)
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D. super.set(map.values());
E. set(map)

Correct Answer: BD

QUESTION 4

Given:

public interface InterfaceOne {
void printOne():;

Which three classes successfully override printOne()? (Choose three.)

A public abstract class TestClass implements InterfaceOns {
public abstract void printOne();
}

B. public class TestClass implements InterfaceOne {
private wvoid printOne|){
System.out.printlin|"one");
}
}

C. public class TestClass implements Interfacelne {
public void printone(){
System.out.println{"one");
]
}

D. public abstract class TestClass implaments Interfacelne |
public void printOne(){
System.out.println{"one™);:
}
}

E. public abstract class TestClass implements InterfaceOne {
public String printOnea() {
return "one”;
}
}

F. public class TestClass{
public void printOne () {
System.out.println("ona") ;

}

A. Option A
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B. Option B
C. Option C
D. Option D
E. Option E
F. Option F

Correct Answer: ABC

QUESTION 5

Which describes a characteristic of setting up the Java development environment?

A. Setting up the Java development environment requires that you also install the JRE.

B. The Java development environment is set up for all operating systems by default.

C. You set up the Java development environment for a specific operating system when you install the JDK.
D. Setting up the Java development environment occurs when you install an IDE before the JDK.

Correct Answer: D

Reference: https://docs.oracle.com/javame/8.1/sdk-dev-guide/install.htm

QUESTION 6

Given: What is the result?

1. public class Main {

¢l public static void greet (String... args) |
3. System.out.print ("Hello ");

4, for (String arg : args) {

5, System.out.println(arqg);

6. }

e }

8. public static void main(String[] args) {
9. Main ¢ = null;

10. c.greet();

11. }

12. )

A. NullPointerException is thrown at line 4.
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B. NullPointerException is thrown at line 10.
C. A compilation error occurs.
D. Hello

Correct Answer: D

Console 4 % onsole & *
hello

Completed with exit code: 0

QUESTION 7

Which three initialization statements are correct? (Choose three.)
A.intx=12_34;

B. short sh = (short)"A\\;

C. String contact# = "(+2) (999) (232)";

D. boolean true = (4 == 4);

E. float x = 1.99;

F.int]]]] e = {{1,1},{2,2}};

G. byte b = 10; char ¢ = b;

Correct Answer: AEF

QUESTION 8

Given:
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public class Foo {
private void print() {
System.out.println("Bonjour le monde!");

}
public void foo() {

print () ;

public class Bar extends Foo {
private void print() {
System.out.println("Hello world!");

}
public wvoid bar() {
print () ;
}
public static void main(String... args) {
Bar b = new Bar();
b.foo():;
b.bar():
}

}

What is the output?

A. Hello world! Bonjour le monde!

B. Hello world! Hello world!

C. Bonjour le monde! Hello world!

D. Bonjour le monde! Bonjour le monde!

Correct Answer: C

Console 1 Console 2

Bonjour le monde!
[Hello world!

ICnmplated with exit code: 0
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QUESTION 9

Given:

public class DNASynth {
int aCount;
int tCount;
int cCount;
int gCount;

volid setACount (int cCount) {
cCount = cCount;

}
void setTCount () {
this.tCount = tCount;

}
int setCCount () {

return cCount;

}

int setGCount (1nt g) {
gCount = g;
return gCount;

}
void setAllCounts (int x) {

aCount = tCount = this.cCount = setGCount (x):

Which two methods modify field values? (Choose two.)
A. setAllCounts

B. setACount

C. setGCount

D. setCCount

E. setTCount

Correct Answer: BE

QUESTION 10

Examine this excerpt from the declaration of the java.se module:
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module java.se |
requires transitive java.sqgl;

What does the transitive modifier mean?

A. Only a module that requires the java.se module is permitted to require the java.sgl module.

B. Any module that requires the java.se module does not need to require the java.sgl module.

C. Any module that attempts to require the java.se module actually requires the java.sgl module instead.
D. Any module that requires the java.sql module does not need to require the java.se module.

Correct Answer: A

QUESTION 11
Given:
public class Foo {

public static void main(String... args) {

for (var x : args) {
System.out.println(x);

What is the type of the local variable x?
A. Character

B. char C. String[ ]

D. String

Correct Answer: D

QUESTION 12

Given: What is known about the Sportscar class?
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public class Sportscar extends Automobile(
private float turbo:

public void setTurbo (float turbo) {
this.turbo = turbo;

A. The Sportscar class is a subclass of Automobile and inherits its methods.

B. The Sportscar subclass cannot override setTurbo method from the superclass Automobile.
C. The Sportscar class is a superclass that has more functionality than the Automobile class.
D. The Sportscar class inherits the setTurbo method from the superclass Automobile.

Correct Answer: D

QUESTION 13

Given:

package a;

public abstract class Animal {

protected abstract void walk():;

}

package b;

public abstract class Human extends Animal {
// line 1

Which two lines inserted in line 1 will allow this code to compile? (Choose two.)
A. protected void walk(){}

B. void walk(){}

C. abstract void walk();

D. private void walk(){}

E. public abstract void walk();

Correct Answer: AB
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QUESTION 14

Given the code fragment: What is the result?

int[] secA = { 2, 4, 6, 8, 10 };

int[] secB = { 2, 4, 8, 6, 10 };

int resl = Arrays.mismatch (sechA, secB);
int res2 = Arrays.compare (sechA, secB);
System.out.print(resl + " : "™ + res2);

Correct Answer: A

QUESTION 15

Given the code fragment:

public static void main(String[] args)
List<Integer> even = List.of():
even.add (0, -1)
even.add (0, -2)
even.add (0, -3)
System.out.println(even);

s Wa

What is the output?

A. The compilation fails.

B. [-1, -2, -3]

C.[-3,-2, -1]

D. A runtime exception is thrown.

Correct Answer: A
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/List.java:3: error: type List does not take paraometers
List<Integer> even = List.of();
M

/List.java:3: errcr: cannot find symbol

List<Integer> even = List.of();
A

symbol: method of ()
location: class List
Z Brrors
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